188

1) 625

2) 2x2x2=8

3) 81

4) 7x7x7 =343

6) =9

7) 53+6=-59

8) 6%+2-g6

9) 1813-9=184

10) 48452413

11) 16

12) C1+2+3 = CE

13) ESF3+442 = ESFO

14) BE+7C 143 = B13C4

15)  Y10+453 - y12

16) ABX-3X = ASX

18C

1)
2)
3)
4)
5)

6)

8)
9)
10)
1)
12)
13)
14)
15)

16)

17)

18)

19)

196

-1
81
+7
3343 5 36
52+6 = 58
652 =63
45+2 = 47
AS5+2B4+1 = ATBS
BY +2Y = g3y
A5-1 = A4
X5+2-7 & X0
add
sublract
5(N +2) - 2N = 4(N + 1) - 40

EN+10-2N=4N +4 - 40
AN + 10 =4N - 36
N=46 46, 47,48

.ﬂ5N+.1DD=1.E{I: N+D=20

5N + 10D = 160

SN - 5D =-100
D= 60 N+(12)=20
D=12 N=8

3Y = -6X + 10

Y=-2X+103

Y=3X+2

Y=X+4

(X+4)=3X+2 Y=1+4

1X = 1 vear Y=5 = 51

18D

1)
2)
3)
4)
5)

)

8)

9)
10)
11)
12)
13)
14)

15)

16)

17)

18)

19)

20)

-169

+120r-12

225

+100r <10
734441 o 78
284342 = 213
X249 = Y11
Ad+582 = APB?2
853 = g2
1051 =104
X10-4 = X8
XAY4IY-Y = }6Y
divide
multiply
4N+2)+3(N+4)=8BN-11
AN+8+3N+12=8N-11

TN +20=8N - 11
31=N 31,33,35

25Q+.10D=160, Q+D=7

25Q + 10D = 160
-10Q - 10D = -70

15Q =9 (6)+D=7
Q=6 D=1

Y =37X +30

(215) = 37X + 30
185 =37X

S5=X = 5weeks

(326) = 37X + 30
206 = 37X

8=X = B8weeks



